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ATOMIC ENERGY CENTRAL SCHOOL 2, Mumbai 

COMMUNICATIVE ENGLISH  

PERIODIC TEST – 1 :  

Class :  IX                                                                                                        Date : 19.07.2024 

Time allowed: 90 minutes.                                           Max. Marks 40 

__________________________________________________________________________________ 

General Instructions: 

1. Read all the questions carefully and attempt all the questions accordingly. 

2. There are four sections in this paper – Reading, Writing, Grammar and Literature. 

_________________________________________________________________________________ 

SECTION A : READING SKILLS    (11 marks) 

 

1. Read the following passage:      (11) 

 

“Having some engine trouble there?” a friendly voice called out. 

I looked around and saw a face peering over the fence. It was my neighbour. He had a kind, friendly 

expression and a shock of white hair on his head. A big smile beaming down at me. 

“Hello there,” I said. I waved my hand at the broken lawnmower. “Yes, this old thing has seen better days. I 

think it’s time to get a new one. Would you like to borrow mine?” 

I’d seen his shiny green lawnmower before, as he diligently tended to his immaculate garden. I hesitated for a 

moment before shaking my head. “Thank you, that’s very kind, but I don’t want to be any trouble.” 

“No trouble at all,” he said. “I’ll bring it over.” 

My neighbour introduced himself as George. I told him my name, and we found ourselves chatting about all 

kinds of things. George was living alone in his house. 

“My wife died a few years ago,” he explained. “And I have a daughter. But she lives far away. She has her 

own life and her own family now.” We also found that we shared a passion for cricket, a sport that set me 

apart from most of my other friends, who were either football or rugby fans. After that day, George and I 

spent quite some time together. Despite the age difference, I felt a strong bond with George. It was refreshing 

to engage in meaningful conversations about life. 

Then, one morning, I noticed a car pulling up outside George’s house. A woman stepped out of the car, and it 

was evident that she was his daughter. Her striking resemblance to George was unmistakable. Thinking it 

was a good opportunity to introduce myself, I approached her. 

“Hello,” I called out. “You must be George’s daughter.” 

She looked over with a faint smile. 

“Yes, I am. Just here to sort through some of my father’s belongings.” 

“Your dad is a fantastic neighbour,” I began. “He’s helped me so much with my garden, and we share a deep 

love for cricket.” 

The woman’s face twisted in confusion. 

“I’m sorry… what? What do you mean?” 

I went on, “We chat all the time,” I concluded. 

“You saw someone in my father’s house?” she asked. “That’s impossible.” 

“No, not someone,” I said. “Your dad. George. I see him all the time. I saw him only yesterday.” 

The woman shook her head and was now stepping away from me. 
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“That’s not possible.” 

Puzzled, I asked, “What do you mean?” 

She leaned against her car for support and uttered words that left me chilled. “My father passed away last 

year.” 

 

Answer the following questions: 

(i) What is the setting of the overall mood and atmosphere of the story? 1 

(a)Horror  (b) Terror  (c) Desertion  (d) Comic 

(ii) Describe the neighbour’s appearance in 30 - 40 words.  2 

(iii) What was the most obvious way to conclude that the lady was George’s daughter? 1 

(iv) Where can you possibly add these lines in the passage?  1 

 I was left shell - shocked and those words sent a shiver down my spine and I couldn’t move nor could 

I utter anything after that. All those encounters with George reappeared in a flashback.  

(a)Beginning (b) Middle (c) Just before ending (d) Ending 

(v) Pick out a characteristic feature of George’s personality. Justify with an example. 2 

(vi) Substitute the underlined word from an expression from the second paragraph of the passage:   1 

My niece wants to pursue her career as a singer, owing to her fondness for music. 

(vii) Based on the use of the word "immaculate" to describe George’s garden, in Paragraph 1, we can infer 

that its condition was:                                                                                                               1 

(a)Systematic  (b) neat and tidy  (c) perfect  (d) big 

(viii) Complete the sentence appropriately:     1 

The woman’s face twisted in confusion because _______________. 

(ix) Why can George be called a “fantastic neighbour”?  1 

(a) He was kind to the narrator 

(b) He was friendly and helpful 

(c) The narrator could have a great bond with George 

(d) All of the above  

SECTION B : WRITING SKILLS (11 marks) 

2. Write a descriptive paragraph on the topic “Unity in Diversity”.                                                       7 

3. You are Ritesh/ Ritika, the Library Captain of Orchids International School, Hyderabad. Draft a notice for 

the secondary students of your school to attend the inauguration of your school’s new library.  4 

SECTION C : GRAMMAR (5 marks) 

4. Fill in the blanks with an appropriate answer:     2 

There are so many options these days for students to select as a career. Earlier, there (a)____(are/were) not so 

many options. People often (b)___(had/have) to depend on other people’s experiences. Also, there 
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(c)___(was/were) not other resources like the internet. However, today the situation (d)____(is/has) quite 

different from the past. 

5. Rearrange the following jumbled phrases/words to construct a meaningful sentence  1 

cheerful / although / remained / he / entire / his / ruined / had / business / been 

6. Edit the following paragraph:       2 

       Incorrect  Correct 

The Egyptian civilization were   (i)  ________  _______ 

a first to make paper from Papyrus.             (ii) ________  _______ 

Previously, this plants grew abundantly (iii) _____                _______ 

across the Nile Delta. It was also use  (iv) ______           _______ 

to make hats, reed mats, etc. 

SECTION D : LITERATURE TEXTBOOK (13 marks) 

7. Answer the questions based on the following extract:  3 

“Till last by Philip’s farm I flow 

To join the brimming river, 

For men may come and men may go, 

But I go on forever. 

 

(i) Who is ‘I’? 

(ii) Where is ‘I’ heading to? 

(iii) What literary device can be used for ‘I’? 

8. Briefly answer ANY THREE of the following questions in 30 – 40 words:    6 

(a) How did the grandmother feel when her granddaughter wasn’t there to read the next episode of 

Kashiyatre for her? Why? 

(b) What was the goal that grandmother set for herself until Dussehra? Did she achieve it? 

(c) What is the ‘refrain’ in ‘The Brook’? What effect does it create? 

(d) Juliette tells her maid. “I’m fed up with the place.” Which place is she talking about? Why? 

(e)  Write about any two prejudices that Mrs. Al Smith has about Europeans. 

 

9. Answer the following questions in about 80 words:                                                       4 

Nature is permanent. Man is not. Explain with reference to the idea conveyed in ‘The Brook’. 

_________________________________________________________ 



परमाणु ऊर्ाा कें द्रीय विद्यालय,2 मुुंबई 

 कक्षा-नौिीं                                     Periodic Test – 1 -2024-25                                         अुंक - 40 

विषय – ह ुंदी(वितीय भाषा)                                                                                             समय -  डढ़े घुंटा 

 प्रश्न 1  वनम्नवलवित गद्याुंश को ध्यानपूिाक पढ़कर नीचे ददए गए बहु विकल्प प्रश्नों के वलए स ी विकल्प चुनकर वलविए।                    

                                                                                                                                            1×5=5 

 सा स पूणा आनुंद की उमुंग का नाम उत्सा   ।ै कमा - सौंदया के उपासक  ी सच्चे उत्साव त क लाते  ैं।  वर्न कमों में 

दकसी प्रकार कष्ट या  ावन स ने का सा स अपेवक्षत  ोता  ै,उन सबके प्रवत उत्कुं ठापूणा आनुंद उत्सा  के अुंतगात वलया र्ाता 

 ।ै कष्ट या  ावन के भेद के अनुसार उत्सा  के भी भेद  ो र्ाते  ैं। साव त्य - मीमाुंसकों ने इसी दवृष्ट से युद्ध-िीर, दान-

िीर, दया-िीर इत्यादद भेद दकए  ैं। इनमें सबसे प्राचीन और प्रधान युद्धिीरता  ,ै वर्समें आघात,पीड़ा तो क्या मृत्यु तक 

की परिा  न ीं र ती। इस प्रकार की िीरता का प्रयोर्न अत्युंत प्राचीनकाल से चलता चला आ र ा  ,ै वर्समें सा स और 

प्रयत्न दोनों चरम उत्कषा पर पहुुँचते  ैं। केिल कष्ट या पीड़ा स न करने के सा स में  ी उत्सा  का स्िरूप स्फुररत न ीं 

 ोता। उसके साथ आनुंदपूणा प्रयत्न या उसकी उत्कुं ठा का योग  ोना चाव ए। वबना बे ोश हुए भारी फोड़ा वचराने को तैयार 

 ोना सा स क ा र्ाएगा, पर उत्सा  न ीं।इसी प्रकार चपुचाप, वबना  ाथ-पैर व लाए, घोर प्र ार स ने के वलए तैयार 

र ना सा स और करठन से करठन प्र ार स  कर भी र्ग  से न ीं  टना िीरता क ी र्ाएगी। दानिीरता और अथा- त्याग 

के सा स में उसके कारण  ोने िाले कष्ट या करठनता को स न ेकी क्षमता अुंतर् ात र ती  ।ै दानिीरता तभी क ी 

र्ाएगी र्ब दान के कारण दानी को अपने र्ीिन - वनिाा  में दकसी प्रकार का कष्ट या करठनता  ददिाई दगेी। इस कष्ट या 

करठनता की मात्रा या सुंभािना वर्तनी अवधक  ोगी, दानिीरता उतनी  ी ऊुँ ची समझी र्ाएगी,पर इस अथा-त्याग के 

सा स के साथ र्ब तक पूणा तत्परता और आनुंद के वचह्न न ददिाई पड़ेंगे तब तक उत्सि स्िरूप न िड़ा  ोगा। 

(1) सा स से भरे हुए आनुंद की उमुंग का क्या नाम  ै? 

(क) उत्सा    (ि)  आशा      (ग)प्रयत्न  (घ)  उदारता 

(2) सबसे प्राचीन और प्रधान िीरता कौन सी  ै? 

(क)  दया िीरता   (ि) धमा िीरता  (ग) युद्ध िीरता    (घ) दान िीरता 

(3) दानिीरता तब म त्िपूणा क लाती   ैर्ब दानी को अपने र्ीिन - वनिाा  में कैसा अनुभि  ो? 

(क) उत्सा   (ि)  सुि         (ग) सुंतोष   (घ)  कष्ट 

(4) ‘अथा -त्याग’ से दकसका त्याग  ?ै 

 (क) धमा      (ि) धन                (ग) कमा       (घ) द े 

(5) उत्सा  का दशान दकस प्रकार के प्रयत्न में ददिाई दतेा  ै? 

 (क) दिुपूणा    (ि)  आनुंदपूणा   (ग)  वनराशापूणा  (घ) व्युंग्यपूणा 

प्रश्न 2  वनदशे के अनुसार उत्तर वलविए- (व्याकरण भाग) 

(अ) वनम्नवलवित शब्दों में से ि  शब्द चुवनए,वर्समें ददए गए उपसगा का प्रयोग न ीं  ोगा (कोई दो)2 

 प्रवत  

(क)  प्रत्यक्ष   (ि)प्राध्यापक         (ग ) प्रत्येक   (घ) प्रवतक्षण  

 पर  

(क)  परलोक   (ि) पराधीन        (ग) परदशे     (घ) पराग 



 भर 

(क) भरना        (ि) भरपेट        (ग ) भरमार     (घ) भरपूर 

(आ) ददए गए प्रत्ययों से वनर्मात शब्द  ोगा –( कोई दो)          2 

तम 

(क) उच्चतम      (ि) उत्तम            (ग ) प्रथम       (घ) गतम 

 अनीय 

(क)  दशानीय   (ि) चलनीय             (ग ) आदरणीय  (घ) पठनीय 

 इक 

(क)  साव वत्यक   (ि) रेविक             (ग ) वलवपक     (घ) पाठक 

(आ) वनदशेानुसार उत्तर वलविए-       ( कोई चार)          4 

(1)  र् ाुँ समस्त पद में आए दोनों पद गौण  ोते  ैं तथा समस्तपद दकसी तीसरे पद के विशेष की ओर सुंकेत करें, ि ाुँ 

कौन-सा समास  ोता   ै

 (क)बहुब्रीव  समास (ि) विग ुसमास   (ग )कमाधारय समास    (घ) अव्ययीभाि समास  

(2)वर्स समास में प ला पदसुंख्या िाचक  ो,  उसे क ते  ैं- 

(क) अव्ययीभाि समास  (ि)  बहुव्रीव  समास    (ग)   विग ुसमास   (घ)  कमाधारय समास  

(3) ‘म ाविद्यालय’ समस्तपद का स ी समास भेद का नाम  ोगा - 

(क) विग ुसमास    (ि) कमाधारय समास   (ग) अव्ययीभाि  समास    (घ) तत्पुरुष समा 

(4) वनम्नवलवित समास का स ी उदा रण ददए गए विकल्पों में से  ोगा- 

 अव्ययीभाि समास  

 (क) मल्लयुद्ध     (ि) कामचोर      (ग ) अनाथ       (घ) यथोवचत 

(5) विग्र  के आधार पर समास का नाम  ोगा- 

  र एक क्षण 

(क) अव्ययीभाि समास  (ि )तत्पुरुष समास (ग)बहुव्रीव  समास  (घ) कमाधार समास  

प्रश्न 3 वनम्नवलवित परठत गद्याुंश पर आधाररत बहुविकल्पी प्रश्नों के सिाावधक उपयुक्त विकल्प चुनकर वलविए -              

                                                                                                                                   1×5=5 

 र्ानिरों में गधा सबसे ज्यादा बुवद्ध ीन समझा र्ाता  ै।  म र्ब दकसी आदमी को परले दरर्े का बेिकूफ क ना 

चा ते  ैं, तो उसे गधा क ते  ैं। गधा सचमुच बेिकूफ   ैया उसके सीधेपन, उसकी वनरापद सव ष्णुता ने उसे य  पदिी 

द ेदी  ,ै इसका वनश्चय न ीं दकया र्ा सकता। गाय सींग मारती  ,ैब्याई हुई गाय तो अनायास  ी हसुं नी का रूप धारण 

कर लेती  ।ै कुत्ता भी बहुत गरीब र्ानिर  ैं, लेदकन कभी - कभी उसे भी क्रोध आ  ी र्ाता  ,ै ककुं तु गधे को कभी क्रोध 

करते न ीं सुना, न दिेा। वर्तना चा ो गरीब को मारो, चा  ेर्सैी िराब, सड़ी हुई घास सामने डाल दो, उसके चे रे 

पर कभी असुंतोष की छाया भी न ददिाई दगेी। 



(1)   दकसी मनुष्य को गधा क्यों क ा  र्ाता  ?ै 

(क)उसकी मे नत के कारण               (ि) उसकी दशा के कारण  

(ग) उसकी मूिाता के कारण             (घ) उसके सीधपेन को दिेकर 

(2) गधे को गधा क ने के पीछे क्या कारण  ै? 

 (क)उसका चुप र ना                    (ि) उसका सीधापन और स नशीलता  

(ग) लगातार काम करना               (घ) उसकी  ोशयारी और चालाकी 

(3) अन्य पशुओं का स्िभाि कैसा  ोता  ै?  

(क) शाुंत और सौम्य                         (ि)कोमल और वनरवभमानी  

(ग) कू्रर और ममताल ु                        (घ) क्रोधी और आक्रामक 

(4) ब्याई हुई गाय अनायास  ी हसुं नी का रूप कब धारण कर लतेी  ?ै 

(क)र्ब कोई उसे तुंग करता  ।ै 

(ि) र्ब कोई उसे िाना न ीं दतेा  ।ै 

(ग) र्ब कोई उसके बछड़ ेके पास आता  ै। 

 (घ) र्ब कोई उसे िींचता  ।ै 

 

 (5) ‘वनरापद सव ष्णुता’ का अथा क्या  ?ै 

(क) अत्यवधक स नशीलता           (ि) अत्यवधक सीधेपन 

(ग) वबना स नशीलता के                (घ) अत्यवधक मिूा  ोना 

प्रश्न 4  वनम्नवलवित प्रश्नों में से ककुं  ीं दो प्रश्नों के उत्तर वलविए-2×2=4 

(1) क्या आपको लगता   ैदक दो बैलों की क ानी आर्ादी की लड़ाई की ओर भी सुंकेत करती  ?ै वलविए। 

(2)   दकन घटनाओं से पता चलता   ैदक  ीरा और मोती में ग री दोस्ती थी? 

(3) ‘दो बैलों की कथा’ में बैलों के माध्यम से कौन - कौन स े नीवत - विषयक मूल्य उभरकर सामने आये  ैं? 

 

प्रश्न 5  वनम्नवलवित काव्याुंश को पढ़कर ददए गए प्रश्नों के उत्तर स ी विकल्प चुनकर वलविए- 1×5=5 

 ऊुँ चे कुल में र्नवमया, ये करनी ऊुँ च न  ोइ। 

 सुबरन कलस सुरा भरा, साधू हनुंदा सोइ।। 

(1) ऊुँ चे क लाने का अवधकार दकसको  ै? 

 (क) र्ो बहुत लम्बा  ो  

 (ि) र्ो धनी पररिार में पैदा  ो   

(ग) उच्च और म ान काया करने िाले को  

(घ) र्ो र्ल्दी-र्ल्दी कायाकताा  ो  

(2) इस सािी में दकस बात पर बल ददया गया  ?ै 

(क) सुन री कलश का प्रयोग करो (ि) अच्छे और नके काया करो 



(ग) ऊुँ चे कुल में र्न्म लो  

(घ) म ुँगी िस्तुओं का प्रयोग करो 

(3) साधु दकस की हनुंदा करते  ैं? 

(क) गरीब लोगों की 

(ि)वनम्न कुल में पैदा  ोने िालों की  

(ग) बुरे कामों में वलप्त लोगों की  

(घ) गुंद ेलोगों की 

 (4) ऊुँ च कुल से क्या अवभप्राय  ?ै 

(क) बड़-ेबड़ ेघरों में र ने िालों से (ि) ऊुँ चे स्थानों पर र न ेिाले लोगों स े

(ग) पूर्ा- पाठ करने िालों से  

(घ) धनी तथा सभ्य पररिारों से सुंबुंवधत मनुष्यों स े

(5) सोने का कलश कब बुरा माना र्ाता   ै? 

(क) र्ब ि  छोटा  ो  

(ि) र्ब ि  गुंदा  ो  

 (ग) र्ब उसमें  सुरा भरी  ो 

 (घ) र्ब उसे छुपाकर रिा र्ाए 

 प्रश्न 6 वनम्नवलवित में से दकन् ीं दो प्रश्नों के उत्तर वलविए-2×2=4 

(क) कबीर ने ईश्वर प्रावप्त के वलए दकन प्रचवलत विश्वासों का िुंडन दकया  ?ै 

(ि) दकसी भी व्यवक्त की प चान उसके कुल से  ोती   ैया उसके कमों से तका  सव त उत्तर वलविए। 

(ग) कवि ने सच्ची प्रेम की क्या कसौटी बताई  ?ै 

प्रश्न 7 वनम्नवलवितमें से दकन् ीं दो प्रश्नों के उत्तर वलविए- 2×2=4 

(क) बाढ़ की िबर सुनकर लोग दकस तर  की तैयारी करन ेलगे? 

(ि) बाढ़ की स ी र्ानकारी लनेे और बाढ़ का रूप दिेने के वलए लेिक क्यों उत्सुक था? 

(ग) आपदाओं से वनपटने के वलए अपनी तरफ से कुछ सझुाि दीवर्ए। 

प्रश्न 8 दघुाटनाग्रस्त  ो र्ाने पर अपने वमत्र को साुंत्िना दतेे हुए लगभग 100 शब्दों में एक पत्र वलविए।   5 

अथिा 

िृक्षों की अवनयुंवत्रत कटाई को रोकने के वलए क्षेत्रीय िन अवधकारी को लगभग 100 शब्दों में एक पत्र वलविए। 

########### 
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Atomic Energy Central  School-2 

9th PT-1 Examination (2024-25) 

Subject: Marathi (2,3,4,5,6)              Time:  90 Min 40 

Marks 

.................................................................................................................................................. 

प्रश्न क्र. 1 पुढील अपठीत उतारा वाचनू त्याखालील कोणत्याही चार प्रश्नाांची उत्तरे ललहा. 4 

फाल्गुन पौर्णिमेच्या दिवशी येणा-या होळी या उत्सवाला होळी पौर्णिमा, होललकोत्सव, 

होललकािहन, अशी लवलवध नाव ेआहते. कोकणात लशमगो म्हणतात. िसुऱ्या दिवशी सुरू 

होणाऱ्या वसांत ऋतचू्या आगमनालनलमत्त "वसांतागमनोत्सव" ककां वा "वसांतोत्सव" असेही 

म्हणण्यात यतेे.  

एका पौरालणक कथनेुसार भगवान लवष्णूचा भक्त असलेल्या प्रल्हािाला मारण्यासाठी 

लहरण्यकश्यपूने पाठलवलेल्या होललकेचा श्रीलवष्णू िवेान ेवध केला होता. होललकेला वर होता की 

लतला अग्नी जाळू शकणार नाही, परांतु प्रल्हािाला जाळण्यासाठी लतने त्याला माांडीवर घेऊन 

अलग्नकुां डात प्रवेश केला. प्रल्हाि बचावला व होललकेच ेिहन झाले अशी आख्यालयका प्रचललत आह.े 

अशाप्रकारे, हहांिूांच्या इतर सणाप्रमाणे होललकािहन िखेील वाईटावर चाांगल्याचा लवजयाचे प्रतीक 

आह.े 

महाराष्ट्रात होळीच्या दिवशी सलमधा म्हणून काही लाकड े मांत्रोच्चारात जाळतात आलण 

पेटलेल्या होळीभोवती 'बोंबा' मारत लोक प्रिलिणा घालतात. होळीला नारळ व पुरणपोळीचा 

नैवेद्य िाखलवण्याची रीत आह.े काही गावात लशमग्यात ‘होलिवे’ साजरा होतो. हा एक ५०-

६० दकलो वजनाचा एक िगड आह.े यालाच होलिवे म्हणतात. गावातील मानकरी आलण खास 

करून नवलववालहत तरुण हा होलिवे उचलतात आलण होळीभोवती एक प्रिलिणा घालतात. 

आगीतून पलायन, नारळ हजांकणे अशा स्पधाि लशमगा उत्सवात भरवल्या जातात. एकमेकाांना 

लशव्या िणेे व रात्री छोटीशी खोडकर चोरी करणे अशाही प्रथा पूवी प्रचलीत होत्या. 

होळीच्या िसुऱ्या दिवशी धूललवांिनाचा सण साजरा केला जातो. याला' धुळवड' असेही 

म्हणतात. या दिवशी होळीची रिा अांगाला फासली जाते ककां वा ओल्या मातीत लोळण घेतली 

जाते. एकमेकाांना गुलाल लावून रांगाांची उधळण करणे, सवाांनी एकत्र येणे, बांधुभाव आलण 

एकतेचे प्रतीक म्हणून याकड ेपलहले जाते. 

1. होळीला "वसांतागमनोत्सव" का म्हणतात? 

2. होळीच्या काळात कोणते खळे व खोडकरपणा करतात? 

3. धुललवांिन कशाचे प्रलतक आह?े 

4. होलिवे कसा साजरा करतात? 

5. होळीमध्ये लाकड ेजाळणे योग्य आह ेका? कारणासह उत्तर स्प्ट  करा 

 

प्रश्न क्र. 2  पुढील अपठीत कलवता वाचनू त्याखालील कोणत्याही चार प्रश्नाांची उत्तरे ललहा.4 

श्वानाच ेशेपूट सरळ ना होई। यन्त करा काही वायाची त े॥ 

लपकातल्या ढोरा हाकला दकती। ही दफरून ते येई लपका माझी ।। 

गाढवा घातले जरी गांगास्नान। त्याचे ओंगळपण जायेची ना॥ 

तशी तुझी गती आह ेमाझ्या मना। गेल्या ना वासना अजनूही ।। 
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लधक्कारावे आता तुला दकती मना।धरी शहाणपणा थोडा तरी ॥ 

नाही तर अांती बरी नाही गती। येऊनी काकुळती लवनवी बारे।। 

थकोनी शेवटी ओठाळ ह ेमन ।। अभ्यासचरणी स्वाधीन केले।। 

 नौशाि म्हणे मन सरळ झाले। ज्ञानासह समाधान आले।। 

1. ‘कुत्र्याचे शेपूट वाकड ेते वाकड’े या अथािची कोणती ओळ येथे आली आह?े 

2. गाढवाला गांगा स्नान घातले तरी कोणती गो्ट  घडत नाही? 

3. कलवता मनातून कोणत्या गो्ट ी काढाव्याशा वाटतात? 

4. मनाचे स्वरूप साांगण्यासाठी कवीने कोणकोणत्या प्राण्याांची उपमा दिली आह?े 

5. कवीचे नाव साांगा व त्याच्या मनाला समाधान कधी लमळाले? 
   

प्रश्न क्र. 3 सूचनेप्रमाणे उत्तरे ललहा 

(a) सूचनेप्रमाणे शब्िजातीवर आधारीत उत्तरे ललहा. (कोणतेही 4)    4 

1.  भाववाचक नामाचा योग्य पयािय    (अ) धैयि (ब) धरणे   (क) कडू   (ड) 

लहमालय 

2. लशपाई शूर होता. या वाक्यातील ‘शूर’ काय आह?े (अ)नाम  (ब) सविनाम (क) 

लवशेषण  (ड)दक्रयापि 

3. ‘थाांबत रहा’ शब्िाची जात ओळखा (अ)सविनाम (ब)दक्रयालवशेषण (क)दक्रयापि 

(ड)नाम  

4. खालीलपैकी योग्य लवधाने कोणती ?   

1. नाम - सृ्ट ीतील कोणत्याही वास्तलवक ककां वा काल्पलनक इांदियगम्य आलण मनोगम्य 

घटकाला ओळखण्यासाठी वापरण्यात येणार लवकारी शब्ि म्हणजे नाम.   2. नामाऐवजी 

वापरल्या जाणाऱ्या शब्िाला सविनाम म्हणतात. ते नामाांची पुनरावृत्ती टाळते.  3.नामाब द्दल 

लवशेष मालहती साांगून नामाची व्याप्ती मयािदित करणारा शब्ि म्हणजे लवशेषण 

होय    4.दक्रयापि - वाक्याचा अथि पूणि करणाऱ्या दक्रयावाचक शब्िाला दक्रयापि म्हणतात 

[(अ) लवधान 1 बरोबर इतर चूक   (ब) लवधान 1 व 2 बरोबर इतर चकू  (क) 

लवधान 3 व 4  चूक इतर  बरोबर (ड) सवि बरोबर] 

5. पुढीलपैकी पैकी गटात न बसणारे वाक्य कोणते ?   (अ) अबब!केवढा मोठा पाांढरा 

हत्ती!  (ब) काळे ढग पाऊस आणतात (क) वा! दकती गोड आांबा!  (ड) मला 

लहमालयात दफरण्याची आवड आह.े 

 (b) सूचनेप्रमाणे काळलवचाराांची उत्तरे ललहा. (कोणतेही 3)     

 3 

1. पवन मैिानात फुटबॉल खेळेल. (वतिमानकाळातील वाक्य बनवा.) 

2. त्याांनी पॅराशूटने लवमानातनू उडी घेतली (भलवष्यकाळातील वाक्य तयार करा.) 

3. भारतीय सांघ २०२४ दक्रकेट टी-२० लवश्वचषक हजांकेल ( भूतकाळातील वाक्य तयार करा.) 

4. लहानपणी पावसाळ्यात ररतेश  लचखलात लोळत अस.े (काळ ओळखा) 

(c) सूचनेप्रमाणे वाक्यप्रकाराांची उत्तरे ललहा. (कोणतेही 3)     3 

1. ह ेईश्वरा, सवाांना चाांगली बुद्धी ि!े ( वाक्याचा प्रकार ओळखा) 

2. लता बावळट नाही. (लवधानाथी होकारात्मक वाक्य बनवा) 
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3. वा! दकती वाचनीय पुस्तक आहे! (उि  गाराथी वाक्याचे लवधानाथी वाक्य करा) 

4. अपमान केल्यास कुणाला राग येत नाही? (लवधानाथी वाक्य करा) 

(d) सूचनेप्रमाणे वचनलवचाराांची उत्तरे ललहा. (कोणतेही 2)     2 

1. लनलितपणे अनेकवचनी शब्ि कोणता त ेओळखा.– सोन,े पाणी, िही, रताळी 

2. गाय चरत होती. (वचनात बिल करून वाक्य ललहा) 

3. जाि ू-- या शब्िाचा अनेकवचनी शब्ि ललहा 

 

प्रश्न क्र. 4 सूचनेप्रमाणे उत्तरे ललहा 

 (a) सूचनेप्रमाणे उत्तर ललहा . (कोणता 2)       2 

1. खालीलपैकी लभन्नहलांगी शब्िाचा योग्य पयािय ओळखा.   

(अ) सेवक  (ब) बाहुली (क) नळी (ड) मामी 

2. अयोग्य जोडी ओळखा. (अ) कवलयत्री- स्त्रीहलांगी (ब) रेडा- पुहल्लांगी (क) पुस्तक- 

नपुांसकहलांगी  (ड) बलहण - पुहल्लांगी  

3. साखरभात- शब्िाचे हलांग- (अ) पुहल्लांगी(ब) स्त्रीहलांगी (क) नपुांसकहलांगी 

(ड)उभयहलांगी 

(b) सूचनेप्रमाणे उत्तरे ललहा. (कोणतेही 2)       2 

1. खालीलपैकी समानाथी शब्िाांची अयोग्य जोडी कोणती?  

(अ)भरभराट – समृद्धी (ब) भाांडण – तांटा (क) जल- अरण्य (ड) पुढारी -नायक 

2. खालीलपैकी गटात न बसणारा शब्ि कोणता ? (अ) चांि (ब) शशी (क) रवी  (ड) 

सुधाकर 

3. साविजलनक --  याचा समानाथी शब्ि कोणता?  

(अ)सवाांमध्ये (ब) सवाांच्या मालदकच े (क) सवि रठकाणी (ड) सविजण 

(c) सूचनेप्रमाणे उत्तरे ललहा. (कोणतेही 2)       2 

1. खालीलपैकी लवरुद्धाथी शब्िाांची अयोग्य जोडी कोणती?  (अ)अनुकूल- प्रलतकूल (ब) नम्र- 

उद्धट (क) ज्ञान- अज्ञात (ड) आपला- परका 

2.  'बलवान’ या शब्िाच्या लवरुद्ध अथािचा योग्य शब्ि   (अ) बावळट   (ब) 

िबुिल  (क) लन:सत्व (ड) सशक्त 

3. खालीलपैकी लवरुद्धाथी शब्िाांची योग्य जोडी कोणती?   (अ) कृलत्रम- नैसर्गिक (ब) 

आियि- लवस्मय (क) लहान- छोटा  (ड) तरूणी- युवती 

प्रश्न क्र. 5   खालील प्रश्नाांचा योग्य पयािय  (कोणतेही िहा)    

 10 

1. सांत बलहणाबाई याांच्या ‘ सांत कृपा झाली’ या अभांगातून कोणता सांिशे लमळतो? (वारकरी 

सांप्रिायातील भलक्तयोग /वारकरी सांप्रिायाच्या उभारणीत सांताांचा वाटा /सांताांचे महत्त्व 

साांगणे /सतत नामस्मरण करा)    

2. वारकरी सांप्रिायाचा पाया कोणी रचला? (नामिवे /ज्ञानेश्वर /बलहणाबाई /तुकाराम) 
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3. नाना रोज लशरीषबरोबर यते; कारण (ते चाांगले गायक होत े/त्याांना सांगीतसेवा बलहरेपणामुळे 

करता यते नव्हती /कोणीतरी सांगीतासाठी धडपड करीत असल्याचे पाहण्यात त्याांना सुख लमळत 

होत े/त्याांना लशरीषचे वािन ऐकायचे होते) 

4. बेटा, मी ऐकतो आह!े या पाठातून लशरीषचा कोणता स्वभाव दिसतो? (लपतृभक्ती 

/लजद्दी /स्प्ट वके्तपणा /वरीलपैकी सवि) 

5. 18 एलप्रल 1853 रोजी सरुू झालेल्या वाफेवर चाललेल्या ग्रेट इांलडयन पेलननसुलाच्या मुांबई ठाणे 

पलहल्या रेल्वेला दकती डबे होत?े  (10 /8  /12  /14) 

6. जी आय पी रेल्वे म्हणज…े… (ग्रेट इांलडयन पेलननशुला रेल्वे /गुड इांलडयन पेलननशुला रेल्वे /ग्रेट 

इांडो लिटीश /पेलननशुला रेल्वे /ग्रॅंट इांडो लिटीश पेलननशुला रेल्वे) 

7. व्यायामामुळे पुढील फायिा होत नाहीत? (जडत्व जाऊन अांगात तरतरी येते /स्नायू अशक्त 

होतात /शरीरातील रक्त व्यवस्था उत्तम राहून लवचाराांचा सजीव पणा वाढतो /अलग्निीपन होऊन 

सहज अन्न पचन )     

8. आरोग्यम  धनसांपिा म्हणजे काय? (आरोग्य हीच सांपत्ती  /सांपत्ती हचे खरे आरोग्य  /आरोग्य 

असेल तर खूप पैसे लमळतात /रोगी मनुष्य पैशाने िररिी होतो) 

9. कुबरटीन नावाच्या फ्रेंच क्रीडा तज्ञान े१८९४ साली ………...भरवली होती (ऑहलांलपक 

कााँग्रसे  /कॉंग्रसे ऑहलांलपक /ऑहलांलपक  व्हीलजे /ऑहलांलपक सलमती)   

10. ऑहलांलपक  ध्वजावरील पाांढऱ्या पाश्विभमूीवरील लाल, लपवळ्या, लनळ्या, 

लहरव्या व काळ्या रांगाची वतुिळे …  सांिशे जगाला ितेात. (बलुद्धमत्ता-एकात्मता  

/समता-लवश्वबांधतु्व  /चपळाई-लहम्मत /बलेशस्त-सद्भावना) 

11. सपु्रलसद्ध आदफ्रकन धावपटू….(एलमल झटेोपके /अबबे ेलबकीला /ध्यानचांि  

/फॅनी  टॅंकर) 

12. पलहल ेऑहलांलपक लव्हलजे यथे ेवसल े (ग्रीस /मलेबनि   /फ्रान्स  /अमरेरका)  

प्रश्न क्र. 6 कोणताही एक प्रश्न थोडक्यात ललहा      2 

1. व्यायाम ेअांगी वाढे स्फूती। कायि करण्याची।।- सांिभािसलहत स्प्ट ीकरण करा 

2. पलहल्या रेल्वते बसायला लोक का घाबरत होत?े- थोडक्यात ललहा  

प्रश्न क्र. 7 कोणताही एक प्रश्न थोडक्यात ललहा      2 

1. टे्रनमधून उतरल्यावर व्हलेनसमध्ये कोणता अनुभव यतेो? 

2. शहरात पूर आला आह ेअस ेलांडनहून आलेला मुनीम का म्हणाला?  
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 Section - A 

Question nos. 1 to 10 are multiple choice questions. Choose the correct option. 
 

1 Which of the following is incorrect? 

 a) Solids have fixed shape and fixed volume. 

 b) Liquids have fixed volume but not shape. 

 c) Gases have neither fixed shape nor volume.  

d) The liquid particles have least intermolecular space but maximum kinetic energy.  

[1] 

2 Which of the following conditions will increase the rate of evaporation?  

a) Increase in temperature of water                       b) Decrease in wind speed  

c) Decrease in surface area of water                      d) Adding sugar to water  

[1] 

3 A few substances are arranged in the increasing order of ‘forces of attraction’ between their 

particles. Which one of the following represents a correct arrangement?  

a) Water, air, wind      b) Air, sugar, oil       c) Oxygen, water, sugar        d) Salt, juice, air  

[1] 

4 Which of the following are covered by a single membrane? 

a) Mitochondria           b) Vacuole              c) Nucleus                        d) Plastid 
[1] 

5 The slope of the velocity-  time graph gives 

a) Speed                       b) distance                   c) Acceleration                  d) displacement 
[1] 

6 A body is moving with a uniform velocity of 20m/s. After 10 s , its velocity would be 

a)200 m/s                     b)20 m/s                    c) 30 m/s                            d) 10 m/s 
[1] 

7 In which of the following cases of motions, the distance moved and the magnitude of 

displacement are equal? 

a)if the car is moving on a straight road 

b)if the car is moving in a circular path 

c)the pendulum is moving to and fro 

d)the earth is revolving around the sun 

[1] 

8 Assertion (A): Displacement can be zero even if the distance travelled is not zero.. 

Reason (R): Displacement is the shortest distance between the initial and final positions. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

[1] 

9 Assertion (A): The conversion of gas directly into solid is called deposition. 

Reason (R): Naphthalene leaves residue when kept open for some time. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true 

[1] 

10 Assertion (A): Mitochondria and chloroplasts are semiautonomous organelles. 

Reason (R): They are formed by the division of pre -  existing organelles and contain DNA but 

lack protein -  synthesizing machinery. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

[1] 

 Section - B  

11 Osmosis is a special kind of diffusion. Explain. [2] 

12 Explain the term latent heat of fusion. What is the value of latent heat of fusion of ice? [2] 

13 Distinguish between speed and velocity.  [2] 



 Section – C  

14 Liquids generally have lower density as compared to solids. But you must have observed that 

ice floats on water. Explain why? 
[3] 

15 Give reasons. 

a) Lysosomes are called suicidal bags. 

b) Raisins swell when soaked in water. 

c) Plant cells have large vacuoles compared to animal cells. 

[3] 

16 Name the two types of cell division. Which type of cell division is required for the growth and 

repair of the body, and which type is involved in the formation of gametes? 
[3] 

17 How is a prokaryotic cell different from a eukaryotic cell? [3] 

18 A motorcyclist drives from A to B with a uniform speed of 30 km/h and returns back with a 

speed of 20 km/h. Find the average speed. 
[3] 

 Section – D  

19 Read the following and answer the questions that follow: 

A train moves from one station to another in two hours time. Its speed -  time graph during the 

motion is shown in figure. Identify the correct statement(s) regarding this graph 

 
a) What is the maximum acceleration during the journey? 

b) Calculate the distance travelled by the train during the time interval from 0.75 hour to 1 

hour. 

c) Describe the motion of the train during the time interval from 0.5 hours to 2 hours. 

 

[4] 

 Section – E  

20 a) Draw a neat labelled diagram of a plant cell.  

b) Name any two parts which differentiate it from an animal cell. 
[5] 
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CLASS IX – MATHEMATICS 
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 SECTION -  A  

1 Express 
7

8
 in the decimal form. 

a) 0.8                                    b) 20                                c) 0.67                 d) 0.875 

[1] 

2 

The value of  
9

1
3×27

1
2

3
−1
6 ×3

1
3

     is 

a) 27                                     b) 9                                c) 1                        d) 3 

[1] 

3 The product (x2 -   1) (x 4 + x 2 + 1) is equal to 
a) x6 -   1                  b) x8 + 1                       c) x8 -  1                     d) x6 + 1 

[1] 

4 If x51 + 51 is divided by x + 1, then the remainder is 
a) 0                           b) 51                              c) 50                           d) 1 

[1] 

5 The point whose ordinate is 6 and which point lies on the y -  axis? 
a) (0, 6)               b) (6, 6)                         c) (6, 4)                         d) (6, 0) 

[1] 

6 If P(3, 9) and Q( -  3, -  4), then (abscissa of P) -  (ordinate of Q) is 

a) 1                         b) 7                             c) -  1                             d) -  7 

[1] 

7 The force applied on a body is directly proportional to the acceleration produced on 
it. The equation to represent the above statement is 

a) y = kx                 b) y = x                  c) y + x = 0        d) y -  x = 0 

[1] 

8 A linear equation in two variables is of the form ax + by + c = 0, where 
a) a≠ 0 and b = 0      b) a = 0 and b = 0     c) a≠ 0 and b ≠ 0          d) none of these 

[1] 

9 Pythagoras was influenced by 
a) Archimedes                   b) Thales                          c) Euclid        d) Aryabhata 

[1] 

10 The basic facts which are taken for granted, without proof, are called 

a) theorems                  b) axioms         c) propositions                     d) lemmas 

[1] 

                                                      SECTION – B  

11 Simplify:√45 − 3√20 + 4√5 [2] 

12 Factorise: 125x3 + 27y 3 + 8z 3 -   90xyz. [2] 

13 Find the coordinates of vertices of rectangle ABCD [2] 

 

 

 



14 If x = 3k + 2 and y = 2k -   1 is a solution of the equation 4x -   3y + 1 = 0, find the 
value of k. 

[2] 

15 Multiply x2 + 4y2 + z2 + 2xy+xz – 2 yz by (– z +x – 2y) [2] 

 SECTION – C  

16 In Fig., if∠1 = ∠3 , ∠2 = ∠4 and ∠3 = ∠4, write the relation between ∠1 and ∠2 

using Euclid’s axiom. 

 

[3] 

17 Write the coordinates of the vertices of a rectangle whose length and breadth are 5 
and 3 units respectively, one vertex at the origin, the longer side lies on the x -  axis 
and one of the vertices lies in the III quadrant. 

[3] 

 SECTION - D  
18 

If   𝑝 =
3−√5

3+√5
 and =

3+√5

3−√5
 , find the value of   p 2 + q 2 . 

[5] 
 

19 If a + b + c = 5 and ab + bc + ca = 10, then prove that𝑎3 + 𝑏3 + 𝑐3 − 3𝑎𝑏𝑐 = −25 [5] 

 SECTION – E  

20 Read the text carefully and answer the questions: 
 Ajay lives in Delhi, The city of Ajay’s father in laws residence is at Jaipur is 600 
km from Delhi. Ajay used to travel this 600 km partly by train and partly by car. 
He used to buy cheap items from Delhi and sale at Jaipur and also buying cheap 
items from Jaipur and sale at Delhi. 

Once From Delhi to Jaipur in forward journey he covered 2x km by train and the 
rest y km by taxi. 
But, while returning he did not get a reservation from Jaipur in the train. So first 2y 
km he had to travel by taxi and the rest x km by Train. From Delhi to Jaipur he took 
8 hrs but in returning it took 10 hrs. 

 
a.Write the above information in terms of equation. 
b.Find the value of x and y? 
c.Find the speed of Taxi? 
d.Find the speed of Train? 

[4] 

 



 
 

1 | P a g e  
 

                                                           SECTION-A                                                                   ( 8*1=8) 

1 Which one of the following is Example of Artificial Intelligence? 
a) Remote controlled car 
b) Self-service kiosk 
c) Self-driving car 
d) Self-watering plant 

[1] 

2 ----------- refer to the ability to perceive or infer information and to retain it as knowledge. 
a) Behavior                            b) Nature       c)    Habits                           d) Intelligence                     

[1] 

3 A    ------------ is an AI game based on data science. 
Aa       a) Rock, Paper and Scissors                      b) Mystery animal  
            c) Emoji Scavenger hunt                             d) All of these    

[1] 

4 What are the advantages of Smart Home? 
a) Smart home provides more comfort 
b) Smart home saves energy 
c) Smart home improve security 
d) All of the above 

[1] 

5 AI systems are made up of  
a) Machine, Hardware, Software                b) Only Software 
  c)   Only Hardware                                         d) Only Machine 

[1] 

6 In AI based Machines which of the following term is important? 
a) Doing                                                    b) Training 

       c)  Sorting                                                   d) Analyzing  

[1] 

7 Which of the following is not an application of Natural Language Processing? 
a) Spelling correction                              b) Language Translator 
c)  Face Unlock System                              d) none of the above 

[1] 

8 What is Problem Scoping? 
   a) Problem solving                                     b) Problem creating 
   c) Problem Ending                                     d) none of above 

[1] 

                                                                

                                                                    SECTION-B                                                          ( 4*1=4) 
 

9 Match the items of column A with those of column B correctly.  

Column A Column B 

1. AI based vacuum cleaner a. John McCarthy 

2. Chess playing computer b. Roomba 

3. Face detection c. IBM Deep Blue 

4. Father of AI d. Computer vision 
 

[4] 
 

                                                                SECTION-C                                                         (3*3=9) 

10 Explain Machine Learning and Deep Learning with example? [3] 

11 Difference between human intelligence and Artificial intelligence? [3] 

12 What do you mean by AI? List two applications of AI? [3] 

                                                              SECTION-D                                                     (1*4=4) 

13 Explain the Domains of AI with suitable examples? [4] 
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